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Chapter- 5

MULTIPLICATION

WORKSHEET

I. Solve:

A.Multiply the following by using tables.

2)12x5=_§(()

1)6)(4: ,‘_

B. Use multiplication tables to complete the patterns

r" /'}r 4\1‘,,[(

1) 21 4, 6, 8, 1
2) 3, 648812 .5 NS 1D Y
C. Multiply the following.
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D. State whether the following are true or false

E. Find the product.
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Do as directed. g 5
A) Estimate the following products to nearest 10

2598 x37= 964 90
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B) Multipl ;
Ply the following using Lattice multiplication.
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7358x9:£627

C) Multiply the following.

7 9 5
X

D) Story sums.

1) Multiply the largest 3 - digit number by the Iargest 2- dnglt number :

ANS. Thhe la raesf J»m 1;.;ma
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1) A florist wants to make 37 bouquets w1th 45 flowers in each flowers in e_a@ bouquet. How
LA

nany flowers does he need?
ANS. Mo /an ua efethe f'm!“l\s'f wanlSis
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